T b FESEFBITRERE

(Hpr . TH %)
= 7 v SN 5 A SE SR04 FE o #% AR L
— ke = § 12, 495, 000 13, 170, 000 A 675,000 94. 9
. B B £ B 1,954, 581 2,033, 126 A 78,545 96. 1
wy o |IT i (ZS R 1,947, 598 1,910, 113 37, 485 102.0
= | M oE o E E R 701, 976 686, 076 15, 900 102.3
h /N &t 4,604, 155 4,629, 315 A 25,160 99. 5
T ook B H=F O 975, 540 964, 266 11,274 101.2
1
NoO[IR AR 3 542, 798 538, 582 4,216 100. 8
5 Nl K %O 432, 742 425, 684 7,058 101.7
] Fz =+ e 17, 349, 322 17,207, 170 142, 152 100. 8
/ﬁ\
oI L O I 15, 676, 373 15, 228, 673 447, 700 102.9
- EAN I~ I NI 1,672, 949 1,978, 497 A 305, 548 84.6
8]
/N &t 18, 324, 862 18, 171, 436 153, 426 100. 8
= g 35, 424, 017 35, 970, 751 A 546, 734 98.5
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—RESFRAR O FREER

(BA)

(AL : TH %)

N SR 5 AR N4 T L Ea
’ HER HER AR b
il Bil 1,972,394 15.8 | 1,965,453 14.9 6, 941 100. 4
w5 5 104, 388 0.8 103, 904 0.8 484 100. 5
| I S - B O 3 N 761 0.0 1, 164 0.0 A 403 65. 4
B 4 # K+ & 4, 500 0.0 4, 000 0.0 500 112.5
PRATE R AT A5 51 22 & 4, 500 0.0 3, 400 0.0 1,100 132. 4
TN S < Y 29, 940 0.3 22, 814 0.2 7,126 131. 2
G WH BB A & 481, 000 3.9 459, 000 3.5 22, 000 104. 8
= v 7 3 Rl BLAZ AT 4B 1 0.0 1 0.0 0 100. 0
IR OB MR B &2 AT & 6, 663 0.1 6, 624 0.1 39 100. 6
o5 K Bl &2 A & 12,729 0.1 12, 714 0.1 15 100. 1
#o J5 & £ Bl 5,272,000 42.2 | 5,105,000 38.8 167, 000 103. 3
2 W 2L Ak SRR B A2 A 4 1,641 0.0 2, 545 0.0 A 904 64.5
g e kA #H e 147, 185 1.2 159, 569 L2 | A 12,384 92. 2
il OB & Y F BB 353, 690 2.8 347, 283 2.6 6, 407 101.8
X W 4| 1,109,919 8.9 | 1,365,873 10.4 | A 255,954 81.3
] 53 s & 544, 006 4.4 578, 508 4.4 | A 34,502 94. 0
i) JE A 16, 135 0.1 13,715 0.1 2, 420 117.6
#F Bt 4 4 0.0 4 0.0 0 100.0
i A 4 941, 167 7.5 920, 631 7.0 20, 536 102. 2
i el 4 50, 000 0.4 50, 000 0.4 0| 100.0
E I A 852, 877 6.8 861, 398 6.5 A 8,521 99. 0
i} 1& 589, 500 4.7 | 1,186,400 9.0 | A 596,900 49. 17
w AN B 12,495,000 | 100.0 | 13,170,000 | 100.0 | A 675,000 94.9
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(A7 - TH %)

N SN 5 AT N4 T L L%
* b b AR b
B & & 129, 822 1.0 124, 442 1.0 5,380 | 104.3
i % # 1,530,017 12.3 1,282, 252 9.7 247,765 | 119.3
R A4 & 2, 359, 761 18.9 2, 399, 402 18. 2 A 39, 641 98. 3
f&i 4 # 695, 790 5.6 773, 385 5.9 A 77,595 90. 0
95 18 # 19, 587 0.2 19, 253 0.2 334 | 101.7
s G # 117, 729 0.9 174, 262 1.3 A\ 56,533 67.6
P T # 227, 741 1.8 703, 707 5.4 A\ 475, 966 32. 4
+ A # 1, 106, 967 8.9 1,516, 142 11.5 /A 409, 175 73.0
H %3] # 467, 594 3.7 420, 994 3.2 46,600 | 111.1
# IS # 1, 063, 789 8.5 1, 002, 360 7.6 61,429 | 106.1
7N & # 1, 393, 548 11.2 1, 306, 829 9.9 86,719 | 106.6
E M & 3, 377, 655 27.0 3, 441, 972 26. 1 A\ 64,317 98. 1
e fisi # 5, 000 0.0 5, 000 0.0 0| 100.0
Jitk =] #| (1,400, 254)| (11.2) (1,418,990)| (10.8) (A 18,736)| (98.7)
% & F 12, 495,000 | 100.0 13,170,000 | 100.0 /A 675,000 94.9
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(A7 TH %)
RN 5 AR E RN 4 BT ke i
&Rk b A dse HI4E bR

# 1, 948, 749 15.6 1,944, 153 14. 8 4, 596 100. 2

1, 963, 825 15.7 1,607, 659 12.2 356, 166 122. 2

236, 009 1.9 241, 855 1.8 /A b, 846 97.6

1,214, 915 9.7 1, 318, 346 10.0 /A 103, 431 92.2

B #F O 154, 268 1.2 402, 627 3.1 /A 248, 359 38.3

=% B F 2 462, 389 3.7 1, 190, 165 9.0 AN\ 727,776 38.9

£

616, 657 4.9 1,592, 792 12. 1 /A 976, 135 38.7

o 1, 379, 705 11.1 1, 296, 498 9.8 83, 207 106. 4
HIE1&
i

13, 793 0.1 10, 281 0.1 3,512 134. 2

B 1, 650, 860 13.2 1, 631, 760 12. 4 19, 100 101. 2

= & 786, 580 6.3 785, 028 6.0 1, 552 100. 2

& 4,043 0.0 3, 882 0.0 161 104. 1

4 13, 444 0.1 10, 948 0.1 2,496 122. 8

4 2,661, 420 21.3 2,721,798 20.7 A\ 60, 378 97. 8

5, 000 0.1 5, 000 0.0 0 100. 0

ok = 12, 495, 000 100. 0 13, 170, 000 100. 0 /A 675,000 94.9
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